FIEERFRPEFAELHBERERE (RILEXRR)
B FR21F9A8238 (K)

REREHE—RER
% F [EH18] 201010 EHmEMEFHES
T 2 Y5; ryG; 5 6 i 7 8
A/8 i B ; /B il /B il /B EollE /F 2 5 /B i BES FE R EZ FE Rl
09/23 [&F -0. 8| = 1E =2 27. 31 T BHEQ 28.24 -9 % (1 B.RXE KEQ 28. 88 ZILB 0% (2) 28. 647U EQ 28.TTHE &) 28. 91 1 FEQ2 29. 4]
200m ERE EHEY rRER WEES B 14 %/ 3 AT
09/23 Ll FEQ) 44029 F  HAG( 4415688 HYAQ 442.02/8FIL KEA)  4,57.06 %2 SHF(1) 4,50.82 8L EF(2) 500 08E BF(©2 5005 £E FK@ 5 01.50
1500m P LIl GRJIIT & GR & 1E GR /\F78 nF FELILE T EBFEH
09/23 0.6 1L %) 16.31 E2 #E () 16.78 thit FEMAEQR)  16.81 ML & (1) 17.04 #n:2 =2 (1) 17.46 @RI &3 () 17.50 MAH =F2) 18.32HL BEQ 18. 41
100mH (0. 762m) 1 R E sRILE= s i3 BT th 8} AR E
09/23 1y 52.50 B R 52. 62 £ E7 5L 2 52.67 BRILE= 52. 71 Bk 53.20 &/ H 53.80 chEF 54.06 Et 54. 91
4% 100nR =R FEQ ELE A0 BH# FK HE YEFQ HE RREZ (1) TH EE(Q) =X B() wEA BEA)
WL % (2) NAERS (2) =ZH MW Q) thF FETE (2) W AEE1) RfE BEQ) M FH (1) 2 EE()
#0 Q) %2 REQ) ER WER Q) mE BEE(Q TR EHFQ 2l HOEQ BBV (2) RE FY Q)
®E EA Q) NA ) it HA () BA TR T ZBE() ME %) H3t A Q) WE R Q)
09/23 &F 1% 08T AN 13.37 & =3 () 13.73 89@ e (1) 13.76 23 #& (1) 13.81 5@ Red (1) 1412 2% =&me(l) 14 142 Z@3) 14.27 2 %I 14.33
100m iR fE4% thBp AT Bk 187 st INE 1
09/23 A& BE() 23228/ Ex() 233848 =E(D) 2,35.75 PIgk &HAY (1) 2,35 81 ik LGS (1) 2.38.08 A MBAE(1) 240.01 Ik EZE()  2,40.16 RE +ti(l) 2 41.84
800m Fit EB L YT B 1 EBFES 215 B3R
09/23 PR FE () 1.30 1L @B (1) 1.20 N4k BT (1) 1.20 08 Z=E&1)  1.15@b tmd) .1588 #HEJI) LtABR 110 128 8 () 1.10
T B =[] B3R a0 B1E Bt il mEd)  ARE it
09/23 Mk #E) 4.43(-1.8) Bl A (1) 4.32(-1.5) Eé E(1) 4.03(-0.4) BH EP() 3.98(-0.5) LR &HAa(13.97(-0.7) B ZEHF(13.97(-1.7) #A BHX() 3.94(-1.5) Bk M) 3.83(-1.1)
TEIE B AT EY: R E WEES 2R m=it sRILE= EFH R
09/23 EH 2R 8.06 7 (1) 751 =2 mEW) 7390 2£0) 713 02 mgE () 6.82 tE #7E(D) 6.42 B 2=k (1) 5.80 A/ g7 (1) 5.87
AR (2. T21ke) =i g BIE EBEE AR AT tREE AN -
09/23 &F 2% 0. 8%k THEQ 13.21 S AEBZE (2) 13.23 =&t &2 13.33 @t HR& (2) 13.76 f84E A (2) 13.86 B3 ZA Q) 13.92 &3 M@ Q) 14,03 le4 %7 (2) 14.19
100m SRILE= WEEE EHE INEEE st B th 87 ESH L
09/23 L 3B (2) 2,253 48E YSFQ) 22389 Rl EEQ) 23229k Em(Q 23503 EK BHEXQ) 2361610 HEMQ 23768 B2 F@Q)  241.35 8 EFQ) 2 4.66
800m YRS SRILE= 1 [ INEE Rl — EBEE AFE T
09/23 Ml HEQ) 1,52 # HEFQ  1.465F# L0502 1.43EBR HEQ 1.40 kE #BE Q) IRETSIE 2 10) 1,408 =F Q) 1,40 i T &4 (2) 1.35
T B INF INEEE EH L AT EHEL s e EBEY
09/23 BiE HE Q) 4.96(-0.8) BR f-E=(2.87(-0.3) hEiR DER(B.86(-1.1) ik B2 (2) 4.61(-0.8) /NE 7EH(Q) 4.34(-0.7) HE m(©2) 4.34(-0.1) E BIAS (X.26(-1.3) Al % (2) 4.21(-0.5)
BB EAE Bk EHEL fRILE= SFILE= =] AT A%
09/23 gl =52 90.87 482 Q) 0.55 E# () 9.15 kM XA Q) 0. 15 2 EHH(Q) 9.05 2 B£%Q2) 8.42 Ik EZF Q) 8.421LF WEQ) 7.58
A% (2. 721kg) A =k ERE 1 EBEYG g E Fit
09/23 &FA—T> BE PEHEQ 2400t FHmQ) 2.30 55 FOM Q) 2.20 At EHE Q) 20028 ®x0) 1.60
BEY Eit it it #5480 g




FSy OB -F B-ERE-[RB]-EHFx (BF-[®xF]D
EHe RE [-1] BHed SIERHFEDEFAELHREERXSE EILEXRER) 13-+ [9203506]
HmEEE RETERELEBS 13-+ [201010]
[T [ [T [
8 H A/8| # | B&E |41 BFL B 0 8% |4 EFA il i 8% |4 EFH il 0 8% |4 EFH i B i 8%
ZF 09/23 -0.8] 1 = HEQ) 27.31| 2 d4t BXE () 28.24] 3 MM2RZF =z (1) 28.42| 4 X2 KREF Q) 28.48
200m &/ REEL LtAER MERE
5 L0V 5 (2) 28.64| 6 LA  1E(Q) 28. 77| 7T HE %2 28.91| 8 KR Fi1£(Q2) 29. 47
hEF e E &/ AFIE
TF 09/23] 148 (BB E:ZIN) 5,01.50] 2 &8 #ATFI(X(2) 5,36.46| 3 A=A ¥ (1) 5,37.28] 4 L& wIZ=(2) 5,40.77
1500m R HETE it BIR
SRR EBm) 5,41.07) 6 L& BRrzx(1) 5, 41.44] 7 #2 39 &) 5,41.61| 8 M8  #() 5,43. 41
t=-& =) REEFILER MfERE
9 E#H BEFQ 5,43.88|10 LI &HZ(2) 547.81111 = ZBEF() 5,48. 46|12 /N BTEQ) 5,48.69
* AEF SRk INGEER
13 &R #HEQ) 5,61.04|/14 #0O HEZEF(2) 5 51. 71|15 Ntk 36 (1) 5,55.32|116 &% [LE (2) 5,56. 96
* BHR rHER e
17 B £7EQ2) 5,57.45/18 lLO BEF(2) 6,03.29(19 B EMH() 6,03.33]20 /MU EF Q) 6, 10. 53
fRILE— RN ER B/ HE ERE
21 Ik BEF () 6,11.02|22 #@  Fiid (1) 6,15.16|23 #JII #HD>xE\A 6,43.32| ZEA@E #EI(1) Ri5
=4t tHRER REFFAED 154
FE HTH0) Ri5 EiD B Q) Ri5
=5 LFHAEM
248 1L FE(Q) 4,40.29] 2/ EH  HAALEQA) 4,41.56] 3 ;E#& HUYAQ 4,42.02| 4 /=L K1) 4,57.06
FELtILA GR ne g GR [G1E GR I\FH&
582 SHFW0) 4,59.82| 6 BsIlL EF(2) 5,00.08| 7 it @BF () 5,00.51| 8 A FEEH(2) 5,09. 30
HF FE LA HF IR ER
9 FR RATEQ 5,15.05|10 #giE EF (2) 5 18.51|111 £JIl #HDE(2) 5,20.01|12 /N B2 (2) 5,26.93
AT &/ F Y i B
1B3FKRK HEQ 5,27.86|14 th¥t FHRZE (2) 5,32. 12|15 8@ #7 (1) 5,32. 14|16 B2 =/ 1) 5,35.27
ERE & hEFE e
17 @BH#H ER Q) 5 37.47|18 /M TE(2) 5,63.03|19 =% EE (2 5,53.42|20 fnikE #HR=E(2) 5,58. 31
INFR IR REF N g =R
A8 B2 Ri5 IR B (2) Ri5 full E(Q) Ri5 5T B (2) Ri5
B8y Eit REFHER RILE=
IR EEF(2) Ri5
RILE—
ZF 09/23 -0.6[ 1 L F(2) 16.31] 2 fEE #®WE(2) 16.78| 3 th#t FHIE(2) 16.81] 4 /pL #E3E (1) 17.04
100mH (0. 762m) 1 4 ] EAR RILE= IR
5 HiE BZX:() 17.46| 6 AR &H&F 2 17.59 7 BEHF =F(2) 18.32| 8 #FHFIL =E(2) 18. 41
IR HNET b g AIRE
TF15E 09/23 0.8 1 T =Z|E() 13.37 2 &% =5(1) 13.73] 3 8@ =M (1) 13.76] 4 ;B #(1) 13.81
100m iR e E hEF FLFIE
5 FEH mHE1) 14.12| 6 25 E#52 (1) 14.14| 7 B2 Z=£E(1) 14.27| 8 £B %I () 14.33
ERE sk it IN R
TF1E 09/23] 1%8 11&F B1E () 2,40.01] 2 ik[ EEIEE (1) 2,45.20] 3 B BESH(1) 2,49.17] 4 88 EZX() 2.50. 26
800m REBEE BRILEZ EAL] IR ER
b= B0 2,54.28| 6 B FNE() 3,01.98| 7 #&#@ #&F(1) 3,05.99| 8 #tfr #HD=() 3,06.70
S a2tk FAELILHA MERE RILE=
9 =H BXE(0) 3,31.78] #HLBR HE(N) Ri5
=5 ElR




S OER - P - ERE - [RB] - BEX  (BF - [XF)D

BEtE REF [-1] BEet SIRARFEVIFHFARLBEEAS (RILEXSR) -+ [9203506]
BmkiEs REMERELBERS -+ [201010]
g & g IIE
# H A/B| # | B&E [ EFH & 0 8% (6@ EFH Fi L &% |fI EFH & 0 8% |ff EFH Fi a2 8%
248 1TRE &0 2,41.84] 2 BEHEHA 5L (2) 2,44.19| 3 FH HEiEFEF) 2,48.42( 4 HO =< (1) 2,49.84
BEHIR =t | RILEZ BRILE— |
S5WFE FEO) 2,50.97| 6 kW vAY (1) 2,51 17| 7T 8K HE=R(1) 2,52.07) 8 #nBA Ezx(®1) 2,53.42
HIET HNET =ik 2=
9 s EHE) 2,54.29(10 \i& m (1) 3,07.49
LHER M T
3 EEES 30 2,38.08] 2 /pk EXE() 2,40.16| 3 FH HAEEF0) 2,41.68| 4 5% EXF1) 2,47.97
1247 ) =R EAR fHCH
5 & #iE (1) 2,48.55| 6 & # (1) 2,48.64| 7 /M FH (1) 2,50.35[ 8 IR X% (1) 2,57.97
FHER B &/ Hm t=-%
9 BiE FEMM 2,58.00(10 &+ =i (1) 3,02.53
TN i
448 1T X% B&END 2,32.28] 2 /ihk EX() 2,33.84| 3 EE(®) 2,35.75| 4 [ MY (1) 2,35. 81
| REFILH FHEZ hEF
5Em  wxERF) 2,43.55| 6 =i E#() 2,43.68| 7 411 &Hhia (1) 2,44.84| 8 EX f21E() 2,45.53
N5 L1 ¥ Bi=
9 % mBmE0 2,50. 48
HEIE
TF2%F 09/23 -0.8| 18K F#Q2) 13.21) 2 A5 8E#ER2) 13.23[ 3 @K EHM(2) 13.33| 4 Hf ER%& (2) 13.76
100m RILE= bR &2 REF R INEER
5 FigtE HE(Q2) 13.86| 6 H =EA(2) 13.92| 7 BH# ®Em @2 14.03| 8 g+ =3 (2) 14.19
Bit #ELE hEF REFHILE
TF25F 09/23| 1#A 1#E REQ 2,48.21 2 Mk EHEE(2) 2,48.24| 3/ILK #B(2) 2,48.46| 4 /MR R0 (2) 2,53.49
800m &/ HE INEER L] E21)
5 &K BABREQ2) 2,53.62| 6 F&am #0Y (2) 3,01.18[ 7 IR HEX(2) 3,04.271 8 R&II Ym(®) 3,04.32
£ bt R R 2 K= IG1E
WEH E#O) . Ri5
=5
E] 1iE2 BFQ 2,41.66( 2 IR #H7aH(2) 2,43.25( 3 lLH =i (2) 2,43.86( 4 7EiE £E(2) 2,43.98
HNET AET AET HH
SE#H &HQ 2,49.61| 6 8REF #ER(2) 2,51.53| 7 ##y EHH0(2) 2,568.36| 8 IL'F EMA(2) 3,01.93
£ Bt ERi Rt
9 8RS ¥AQ 3,22.90
3if 17K ERQ 2,36.16| 2 &£3# =4 (2) 2,43.58| 3 E2 MEQ) 2,44.39| 4 HF FExLF Q) 2,45.31
ERILIEE— ERILIEE— ¥ fE H
S5wa #|EQ) 2,46.74| 6 BR =% (2) 2,62.16| #W mx2) R iz ZE 1§72 R 15
hEF N+ 5 FIR =%
Wil AEQ BR Ri5
7i
448 NEE O] 2,23.53| 2 &k YEF(2) 2,23.89( 3 Rl =& (2) 2,32.29( 4tk ZEEB Q) 2,35.03
&/ Hi RILE= 12 4 ] INER
5 1WF w2 2,37.68| 6 #iiE F=Q2) 2,41.35 7 /pk #5050 (2) 2,46.60| @B =2 Ri&
REFHEAR AFIE EiE ERE




FSw OB - [T BE] - ERE-RE-ERE (BF - [xFD
e RE [-1] Fied SIRRFEFEHABELFGERARE (RLEXR) 1-F  [9203506]
Biiima REMERELBRES 13-+  [201010]
& & IE &
2 _H A/H| #8 | BiE |1 EFH il I > 3 kA EFH il A0 % M1 EFH il I > S kA EFH il it %
¥ 09/23| 1#A] -0.6] 1 LA TEQ) 28.80] 2 X K& Q) 28.97] 3 EAR TEQ 29.38] 4 FF HEQ 29. 68
200m iz Ep 22! MERE AFIE N
5 TN BKRFQ2) 31.56| 6 {&£#k #HR==(2) 33.40| 7 /MR EXTF D 34.09 8 WaH FEF2 36. 91
A VN R ED BHIR
weE £50Q o Ri5
= X7
2% 11| 1 b =22 2057 2 BB REQ 30.12| 3 5tEH THE() 30.30| 4 WA Z(Q) 30. 36
AL LTHRE—- wi LTHEM
5 FMA £FEF0) 31.49[ 6 K& HERED 3S1.T 7 K B@EEQ) 32.76| 8 KHM =E() 34.70
LES ik = fRILE=
9KE RE®Q 35. 48
BHR
3% 0.8 1 &g %8 1© 27.38] 2 FF BEQ 20 74| 3 HF B Q) 30.93] 4 K& #0U ) 32.07
&/ H #21E BRILE— ERILEE—
5k EE) 32.25| 6 A #EEEQ) 32.28| 7 HEEW) 32.66| 8 #FO HE(2) 33.19
=R EXES: &/ HE m
9 =@ RREQ 33.47
INEER
278 -0.8] 1 AN % (2 20.52] 2 T #H5EH (2 2063 3 ER TEQ 30.08] 4 BHF ETQ 30.37
&/ HA INGEER 18 4 fif] R
5 k& IE®) 31.61| 6 LA & Q) 33.19| 7 R MWEE) 34.91| BE AEQ x5
REFFATD B4 =i B/ HE
54| 0.8 1 LBV 5 (D) 28.66| 2 MzM_ 7 = (1) 20.48] 3 mi@m mZ= (1) 30.35] 4 @ EE () 31.34
FEE LtHRER REFHRED REEED
RS 1) 31.62| 6 KE ZEB(2) 32.48| 7 L EHQ 33.72] & #MBEZE®) Ri5
FELILA X E =5 EEFILER
6% 0.4 1 °H BZE (D 28 31| 2 mAEp =) 20.75| 3 =F EQ) 30.08] 4 TN BEQ 30. 14
REFHRE LA BEiL L&
5 &l ZER Q) 30.44| 6 HE ©BH (1) 32.75| 7T X EFQ) 33.56| 8 /Nkk EiE(1) 35. 21
ERIIE— N = IRk
=T 09/23| 14| —1.0] 1 L& ¥ 16.73[ 2 mm &= (0 18.06| 3 L = (2) 18.76| 4 &3 =2 20. 01
100mH (0. 762m) ¥ 4 fif] HNET EIRE REEED
5 gl BETFQ 20.48| 6 BRE A® () 21.39| 7 &% BmaRE() 2200 8 B8 EE) 22.12
Bt 1%/ 37 =1z .
2% —1.2] 1 /M0 &= () 17.63] 2 &A& B=) 18.86| 3 WA =% (2) 19.12] 4 & BR() 20. 21
Rk THER REFEE L&
5 BEE 'mE®) 20.61| 6 AE = (1) 21.95| 7@ —& (1) 24.26] RH A®Q Ri5
HNET ik Bik 2%
3% 0.8 1 FH TITEQ) 16.84] 2 HEEH ZTFQ 18.26| 3 TR =4 (2) 19.48] 4 BN F= (1) 21. 46
RILE= e EiR ER
5 M EQ 23.47] 6 B BEF0) 23.52] BA EHQ Ri5 fH ZEFHQ) R iz
= BHIR E&FILER E/HE
8] 10| 1 22 BEQ 17.25] 2 Wi E1& () 19.33[ 3 @ &= (1) 19.70] 4 #%E EA () 20. 55
EAR REHRED LTHER 18 4 fif]
5 %8 RIEQ 20.93| 6 7t FZE () 21.58] 7 SHEEE() 22.58| FIH EBQ &5
INER #RIE EXEESH E/HE




FSvOER - [F &) - ERE - RB - BEXR  (BF - [XF]D
BEtE REF [-1] BEet SIRARFEVIFHFARLBEEAS (RILEXSR) -+ [9203506]
BmkiEs REMERELBERS -+ [201010]
1 A/B| #8 | B&E EF4 & o 2 EFA Fi 50 5% EFA & I 2 EFA Fi a2 8%
5% -0.6[ 1 #m=E EE®) 18.48| 2 &L ZE (2 18.52 3 K HH(2) 18.63| 4 st FH() 19. 37
I ARE RE R FtERE |
Wik BFFXR®D) 20.14] 6 B ZEF () 20.63| 7 X8 ¥E() 20. 71 [FRL #%(2) R 15
R RENERAR LHE— {E{X
TFI1E 09/23 | 1#8| -1.3| 1 #AE =X\ (1) 13.72 2 1ef B (1) 14.54) 3 i@ HF&F () 14.99] 4 st #EE (1) 15.07
100m hEF REFILAR /N &/ T
IA mK () 15.47) 6 [RE F{E() 15.56| 7 &wHA =E&/ (1) 15.63| 8 #& BE&E) 15.83
RIIE= 12/ ] RAENRAR i
XK YA 15.99
BHR
248 -1.8] 1 T ZE) 13.83] 2 4hith BE() 14.46( 3 KR #75(1) 15.29] 4 1kH [£5H (1) 16. 02
#FR HH L] FELEILHA
BefE  FikL (1) 16.31| 6 H1iE &) 16.67) 7/ HEi (1) 7.1 &#& FFQ) Ri5
B L HZM N5 FlR
BAHHBRE 1) Ri5
ElR
M| -0.6| 1 &8 =s50) 13.82| 21X UL () 14.49| 3 FHA pIE() 14.59] 4 &H Fx() 15.15
HCHE ARE MR R E L HZM
FARNT BEK (1) 15.17) 6 &R IHER) 15.81[ 758LE #E D 16.00| 8 HEH HEFF1) 16. 30
FELtLMA IRk EHE— X
KE #%F@0) ” 17.26
48[ 1.4 1 FE A1) 14.22( 2 #mF FEA (D) 14.65 3 Fir WEZE (1) 1474 4 5@ &) 15.13
Rz LFHE— R =5
wx #&0) 15.15( 6 (L  Re]F (1) 16,37 71 %% &AM 15.76( 8 #hiE ZR(1) 16.12
Eit ARt Ml IG1E
£k BBEQ) 16. 69
BHR
SH| -1.71 1 Be E#&E®0) 14.38) 1 @iE =@&(0) 14.38| 3 ®#F #BX01) 15.06| 4 /hH = (1) 15. 11
GBS Bt HDET IRk
i ER(1) 15.32| 6 /Mg == (1) 15.48[ 7 pER 8 (1) 15.58] 8 kIR % (1) 16.24
=R bR &2 FHER =tt
EF EBEX() 16. 52
i
68| 1.1 12H # (1) 13.98| 2| B A1) 14371 3@ wE) 14.88( 4/ luF  #=EX) 14.96
AFIE N =5 REFHEAR
AT ERO) 15.20 WA aakd) 15. 41 FiE BR(0) 15.70| 8 AfR% =i\ (1) 16. 66
INER REFILA K= BRILEE—
KB =K0) . Ri5
=5
T#E| -0.9[ 1 MR E(1) 14. 63 3 10 14. 65 B 2E1) 15.15 hiE M) 15.28
L1 hEF BRILE= 2R
B S 15.36| 6 mIl #=(1) 15.48( 7 Bl &Y H (1) 15.51) 8 AR #7m(®1) 16. 41
&it EARE /™A RILIE=
TF25F 09/23| 142 -0.7[ 1 88K F&#(2) 13.16] 2 iH =X (2) 13.99] 3 AR =X (2) 14.86 4 /it 52 (2) 15. 26
100m RIIE= #ETE FE LA me
I RBEROQ) 15.47) 6 KA X2 15.79] 71 B =#(2) 17.90| #E HE () Ri5
=] &/ HE NS BHIR




FSvOER - [F &) - ERE - RB - BEXR  (BF - [XF]D

BEtE REF [-1] BEet SIRARFEVIFHFARLBEEAS (RILEXSR) -+ [9203506]
BmkiEs REMERELBERS -+ [201010]
g & g IIE
# H A/B| # | B&E 61 EFH & 50 8% |6f EFH Fi 50 &% |ff EFH & 50 & |ff EFH Fi ER s
2/ -1.0[ 1 F@tE HHHE (2) 13.91] 2 g+ =32 14.07] 3 AKX 52408 (2) 14.68| 4 #xK ZH(2) 14. 89
Eit REALER » 1H 7% E ,
5 K& #;Q) 14.97| 6 FkIR FHF5(2) 15.12) 7 8% Y74 (2) 15.81) st IFF(2) R 15
bR &5 fE{X =5 Nkt
S| -1.2[ 1 NBEREE(2) 13.42| 2 #FH Imic (2) 14.44] 3 X#H EMW(2) 14.65) 4+  [LEx(2) 14.93
MR RE HEAR » GRS ERiH
5 FE o) 15.25( 6 R+ B&EF(2) 15.92 7 5%# EDHQ2) 15.97
ERILISE— Fok SiE
448 -1.2) 1 B EMW(Q2) 13.68| 2 iR EEFQ2) 14.63| 3 fE F7T5(2) 14.82| 4/ Kik  #52(2) 14.91
RE R #FR EHE— 2R
5HMA & Q) 15.06| 6 #EpE HF|x(2) 15.08| 7 #F XF (2 16.47 €2 px®) Ri5
EH4CH EYEEY: AEF Rk
S5#| -0.4[ 1 B HR% (2) 13.77] 2 BN FE(2) 15.04( 3 fhfE =2 (2) 15,11 44 #0fE(2) 15. 34
INFER EARE BRILE= AF
5 & FiE Q@) 16.39| 6 &1 F=(2) 15.69| 7 LIg =% (2) 17.02]  #fAR B&F(Q2) Ri5
LHE— B =1t =5
6f8| -1.4[ 1 XH#F EHREQ) 14.31) 2 [FIER  H72d* (2) 14.44] 3 @Il E%X(2) 14.74] 4|7 %2 14.79
hEF RIIE= N5 18 4[]
S5 E EKROQ 14.94/ 6 HFIR %2 15.55| 1 & #1E(2) 15.65| 8 AiE &L (2) 17.03
REFALED /™M LA =5
750 -0.8[ 1 /MR HFE(2) 14.43| 2 B0iz = (2) 14.74| 3/#& =DF(Q2) 14.94] 411Uk =R (2) 15.42
DT ARE ERE HH
5 F/E HEQ 17.45| 6 RE #(2) 1771 W@ =A@ Ri5 mEx %0 Ri5
X 2A ElR =5




J4—ILFER-F 2B -ERE- RB] - 28x% (BF - [XF])
BEmE RE [-1] ket FIRKRFEDFHFAELBEEAE (RIELEXS) -+ [9203506]
mEEE  REMERELRRES -+ [201010]
g IIE g IIE
# B A/ # | BE |{u BEFA BB 2 8% |fu EFA B 2 8% | BEFAL BB 2 8% |u EF4 B i %
ZF15E 09/23 1A #=E«0) 1.30] 2 hx &#F (1) 1.20] 3 /hx 75 (1) 1.20[ 4 %8 Z=EH() 1.15
EE Bk =] EBHR xR HETE
5 H +tiE) 1.15| 6 B2 W#E() 1.10] 6 Fh B 1.10] 8 #EF  #b&H (1) 1.10
=ft tHER ARE =4t
wm& =AW Is  FEA(1) PRE  MEE(1) O EEM
neg REFILE , BRAEERED BEHIR
IR EE(T) @R FEQ) Ri5
fEHH Hit
TF1E 09/23 1/ REFQ) 4.431 22 e d) 4.32( 3 &Ewm =& (1) 4.03( 4 BH EWMO) 3.98
ENE Bk AFIE -1.8 2A -1.5 EAR -0.4 R REF -0.5
5 ER/ &Hhril) 3.97| 6 &M KFF () 3.97| 7 #aK EXK() 3.94| 8 #5K #EEQ) 3.83
AL -0.7 it -1.7 RILE= -1.5 REF R -1.1
9=E A 3710 £ (X5, () 3.70|111 /K =&/H) 3.65(12 iEE £ (1) 3. 64
BRILE— +0.3 BR{HEER -0.3 i el -0.3 hEFE -1.5
13 £@m FEx0) 3.64(14 =B E/Hx=(1) 3.64|15 tkiE E=ZE(1) 3.57|116 Her &EX=() 3.52
&/ -2.0 INATE -0.8 =it -0.7 FELILHA -1.1
17T RS #EM 3.45(18 @A WA (1) 3.45(19 By FEX) 3.38[20 WuE EEO) 3.37
Ei 0.0 N4 5 -0.3 X E 2.0 &/ HE -0.7
21 2% &= 3.37122 LR F8) 3.37|123 #M BEFN) 3.30|124 ki BXE() 3.27
BHR -0.8 tHER -1.0 HFIE -1.8 INER -0.3
25 BE IF () 3.21126 /M1 FEHE=(1) 3.14|27 @ #HZ=(1) 311|128 &% =& 3.10
FIR -0.9 &/ HE -0.9 EiE -0.5 [LfE -1.0
29 F# A0ER (1) 2.92 HNE HF) Ri5 =W BBEEX) Ri5
=1t -0.8 =5 HHT
TF15E 09/23 18% 2A0) 8.06[ 2 FEsfx &) 1.511 3 &FE ®REQ) 7.3 4 uo =2F®) 7.13
Fa st =& B HEIE RERAR
5 thiE s (1) 6.82| 6 £ #HfE(1) 6.42| 7 FP =) 5.89| 8 AR (1) 5.87
EAR AFIE tHER BRILE—
9 #AK FEAB() 5.40(10 E@ ER(1) 5.33|111 45 Z&4<F() 5.28|12 fhjil &(1) 3.49
FIR BRILE= EBRLE— BHR
TF25F 09/23 (BETRNGE ) 1.52[ 2/ #HH EHRFQ2) 1.46| 3|$H# BUVAQ2) 1.43| 48R BEQ) 1.40
EE Bk INTIE INGER REALER AFIE
5 KE #HRE(Q2) 1.40( 6 | HO ZEFE Q) 1.40| 7 8 BFQ2 1.40| 8 g AN (2) 1.35
REFRE i et EHEM REERM
9 1M E(2) 1.30[10 |#& 3£k (2) 1.30(11 #&h #H&E 2 1.20(12 |fr =4 (2) 1.20
PEFE #21E #IE %/ HA
13 1A FE () 1.15

BE




J4—ILFEB -F =H-ERM-[RB]-28XFx (BF-[kF)
Ene R [-1] G4 SIREFESEHFAELBRERE (RILEXS) 13-+ [9203506]
s d REFEMERELBRES 13-+ [201010]
& [ & [
2 B B/B| # | BuE [ EFH B 50 8% |4 EFA & 50 % |4 EFH B 50 % |4 EFH & i 8%
TF 24 09/23 1 2% #EQ 4.96( 2 iRiR f-F=Q2 4.87| 3 hEE HEHR(2) 4.86| 4 Eik BEQ2) 4. 61
FENE Bk EAR -0.8 ERE -0.3 EBHRE -1.1 BRILE= -0.8
b INE TEERL(2) 4.34] 6 IR R (2) 4341 71 #]8 BHABZEF (2 4.26| 8 ZEIE EH(2) 4. 21
RILE= -0.7 FAHE -0.1 HFAE -1.3 LFHAEM -0.5
9 @A Fi#@Q 4.15|110 ;ZF W #FARZXE(2) 4.02(11 FE FXE(2) 3.9112;TH HAB(2) 3.98
Rt -1.2 Rt -0.3 &/ Hm -0.3 RAETF -1.1
137 BYFQ 3.90(14 |ixH EF(2) 3.89[15 luAx HFPE(2) 3.87|16 /ML #HIEBEF (2) 3.85
It -0.5 =R -1.0 INEER -1.3 itiE R 5 -1.2
1758 =%E(Q2) 3.80|18 | HFH#k FIxE(2) 3.80[19 &N ZF&E (2) 3.77(20 TEE EEZX=(2) 3.72
24 -0.4 g7 E -1.4 2y -0.4 EHILE -0.6
21 RII #Hik(2) 3.70[122 \AO mMWZE(2) 3.66|23 ##EA ®IE (2) 3.57(24 ¥iE H4&(2) 3.54
AR -1.1 RIEEER -0.8 e -1.0 AR -0.4
25 #EAT =K (2) 3.54|126 AL D <CEQ) 3.45(27 ¥t #R(2) 3.40(28 |[{EBx RE(2) 3.39
= -1.0 &/ H -0.5 i -0.8 = -1.0
29 {EN $#HZ=(2) 3.25(30 fEsx IEHD(2) 3.18|31 ;D HEEZEH(Q) 3.16|132 | xE 2% (2) 3.14
iR -0.7 &) HE -0.6 fRILE= -1.2 BHR -0.8
33 & HI%(2) 3.11[34 %R #&E(Q2) 2.85| F#HE D2 MR BEZE(2)
LAEM -0.4 =5 -0.7 L& INEER
€l =22 HE ¥1E@ D] R (2) Ri5
HIHRER =] N E
TF245 09/23 118L EHQ) 9.87( 2| K& %2 9.55| 3|E# E(2) 9.15( 4/{kEA A (2) 9.15
it ==BY Bl EAR 12 4 [E
5 #WiE EF () 9.05| 6 7HE B&H (2 8.42| Tk HEZF(2) 8.42| 8 luFE WK (2 7.58
EFHRE i * Eit
9|BkZE ®5D 7.52(10 |8RiFZ £k (2) 7.33111 KR H#HEQ 6.83(12 &= fEZ=(2) 6.79
AR A #EIE =R FeLtluA
1B EHF £EQO 6. 75(14 {REE Q) 6.44|15 #iR MEXR () 6.35|16 |ZH 3EH8(2) 5.74
¥ 4 iftiE &5 LAFEMm Vi
17 W+ BEEQ 5.55(18 =L 1HE(2) 5.45|19 ¥0@ &M (2) 5.08] /INE EF(Q) Ri5
RILE= INEER RILEZ JIIE
=t BT Q) - Ri5
=
Z¥F+—T>  [09/23 188 BERFQ) 2.40[ 2 /it BEAN(2) 2.30| 3 #E ([FOM () 2.20( 4 h¥t ERE(Q2) 2.00
BEa bk Eik Bit Bi AR
5 BB ¥xQ1) 1.60] #L FEQ) =S HEEQ)
iR i BHi




'JU—18R - [P & - #RE - REF - iERR  (BF - [XF]D
B2 RE [-1] BREA FIEERHFRPEHAELHERAXE (RILEXR) -+ [9203506]
iEs 3k EHFMERE RS -+ [201010]
# _H A/B| # | IE6L F—L4 EFAH EFH 2 EFH3 EFH 4 E 2 &
ZF 09/23 | 14H 1]k E =% =H  RIE () NBEHER (2) xE REQ) A FM(Q2) 53.53
4 x 100mR 2%/ HF T =X(2) ZfE £EQ) £l #I%E(2) wiE %Q2) 54.01
3|#ETE Fik BDYFQ2) FH EAQ) i BE(2) I = 30 55. 70
4| EHEFR e WEA) MemnZ9 ) A =) aA Fix1) 56. 91
SN & MR BB () HE %1EQ) BE O =m7(Q2) alll #%x(2) 58.74
6| =EFFEED X2 Ix() KA % THE XK (2) WE EHRXE0) 98.97
JES i RE(Q) IR ERF(2) RE #F(®1) KB #EFO) 1,04.87
8 ;ﬂ}ggﬁ B@ HEE(Q) IR R (2) R &% Q) B3 mxd) 1,11.96
£ 7T 4
218 1134t maR #&EA) miE x@d) HKHE  F(2) figtE R (2) 94.50
2| AF4E g #HEQ) BARE TEQ) ~F EEA) aFF  #51) 54. 66
3|/ it #E Q) AW pE(2) FH KA TE EMA) 94.73
4|84t B ##() =R ThRF (2) =l BE(2) "Hr EQ) 56. 27
S5|F2LILA FARN k() AR X (2) ATE  X#E(2) ' EXQ 56. 70
6 | BRI R AR P #E&x(2) Ek <542 R X2 il 3 - £ 0) 57.32
1/EiE FiHF (EDH(2) R =#E(2) =2 &) N RN (2) 58.83
8 %% £ W= (1) F4 HOER (1) LR EBEQ) R %) 1,03.09
FiR
RE:| 1| RE R aF FK (2) 2R SmM(2) hER WERQ2) hif BAE(2) 53.78
2| =R M ER7) iZE mxA) i A1) Kigg  #54 (2) 55. 68
3|ZAREK Bz X7 (2) AW 2E(Q) EX 0vLn) FIR REQ) 55. 70
4)i% e Wz #B(2) INEBZR(Q) KR F () Ml =x(2) 55. 71
S| EHE— A FEQ L FiE () R #T(2) E2 REQ) 57.38
6|F = fiE BHR() WE BR3(1) ZH HE(Q) wEx 2202 57.62
1= BiE Y73(Q2) K HARE Q) =i wRE1) =8 &0 58.27
8| REF IE XAQ) M =E(Q) (1] - Y MR H7EH(Q2) 58. 62
|/ HE pRlE K0 (2) =iy 10) EH %502 A EHQ2) 1,01.48
448 11E7R R BmERA0) Wik HFFEA) TR REFQ2) Tk ZH(A) 23. 81
2| R ET =24 &Z70) $E XREA0) LUV A (2) KA Fm Q) 54.38
SIEAR EH Imic (2 = ME(Q2) TtE #R Q2 E#E EQ) 54. 81
4l/NEER TE H1EHQ2) He HR&(2) F BEERF(Q2) =# BREQ2 55.30
S|BRILEE— EH EH(2) AKX BEK(Q) alll %A @) B Ax) 56. 17
6|F3H R m(Q2) i =R (2) A FMEA) =M KE0) 57.15
T3R5 wiE E=() NI -3¢ M = (1) HR IFEA) 57.15
8|ERILE = He FiE(2) BrIER 72 (2) AR #7s(1) mE FMWQ) 98.51
9|E 8 ME REWA) TH ThEW) B =R ) B AED) 1,00. 46
5% TERILE= ME YSFQ2) I VEE(AO) mE 5xQ) s FRQ) 52.42
2|42 4 [ =R FEQ) s % (2) FO EREQ) &E %A Q) 52. 71
3| H "R & (2) = ®5() shith BE() A {8(Q2) 54. 60
4| REFALED W& EiKQ2) SH HBUVAQ2) fem  ErX(1) £+ X (2) 55. 29
5|k FH RFHJ) R 1=FEE Q) # EDFQ) rE #£02) 55. 34
6|/L1E Zik BRA) R A1) FHE DF(2) A &%=2) 57. 65
1| LB e 202 Al = Q) 5 ®¥Q2 aHE FxR) 57.88
8| B w7 FEQ) i BEQ) WWE #(2) s RA]F (1) 58. 39
9K £k A% (2) HFO FEQ2) e FEFEQ) Ay N 1)) 58. 55




	決勝記録一覧表
	トラック記録表 (2)
	トラック記録表
	記録表
	リレー記録表

